A fa Romeo Cha enge 2015 KANSA Rd.4 & KYUSYU Rd. 3 & KANTO Rd. 5
VWA-Tria & Time Attack

LTI BE R

5447599@ R5-bEERE 12 30 00
54L7595@ R5-pEERE 15 20 00
2015. 11 23 Xz EY a ARRE K54 BWEEY—+ v kb 3.703km
Bt 5 RHPIE F54/3— ETIL BHE 1EE AN 2@E Al
1 515 5 1 A{CH #MA Porsche GT3 *x1 42.480 3/ 8 1430580 2/72
2 307 5 2 {EEE & BMW 1M IM x149.892 7/ 9 150210 6/ 7
3 300 A 1 =EF R#E AUDI TT RS ACTIVE TTRS 15482 3/5 *1B3¢616 7/ 2
4 368 B 1 jE e Audi $3/2.0 AUDI $3 DL *x154.380 8/ 9 155084 2/8
5 132 2 | Tk Porsche 996 # WY1996GT3A -} *x154.924 6/ 6 155.686 3/8
6- 127 5 3 =% 4§ Peugeot 306 7"y 3-306 x156.963 9/ 9 157452 8/8
7 131 5 4 HH #BE Peugeot 2053)- AN Y 138 2'05.817 3/3 %159.541 7 8
8 125 5 5 it A BMW M3/3. 2 M3-CSL 200197 3/6 #1599875 6/7
9 126 5 6 4K FA Lotus Iyt -3 1J-t" STD *159.984 B/8 2701 300 7/ 8
10 135 5 7 #HRE &R Peugeot 306 7V IBTA *Z00 031 6/ 9 201055 8 8
11 303 B 2 BE xE VW POLO R.E.S POLOGTi *2'00.928 8/ 8 2°00.997 7 7
12 131 3 1 {EBE MRF BMW M235i /3.0 M235i 203463 3/ 8 %203 084 2/3B
12 123 5 8 BE f#— ABARTH 500/1 4 =[0Iy *2'03504 8/8 204238 4/8
14 306 € 1 =@ B5 Aud TT 4-a /-WIBIBETT 2°08.231 8/ 8 %204.621 7 8
5 385 B 3 IO 2% VW GOLF6 R.E.S Golf6ED35 x2 04837 7 O 2'05.586 6/ 8
16 108 1 1 3EAR {857 FIAT PUNT imozze-PUNTO *2'05.200 8/ 8 2'06.286 1/ 17
11 302 B 4 #£4 WA VW GOLF4 R. E. SGo | f4GTi28 *2:05 427 2/0 206 128 1 8

18 120 5 9 F8 IEBR ABARTH PUNTO 7 UMEN 779y %706 156 7/ 7 HEET
19 136 5 10 = fs Peugeot 106 F-LAn" Y 1106 211 13 8/ 8 =206281 6/ 8
20 128 5 11 W Wb Peugeot 306 SLIPOUT306 206280 8/ 8 26835 1 8
21 103 1 2 @Adf EFR ABARTH 500C F-h-MY542BIS 2°07 150 8/ 8 %206.824 7 17
2 01 1 3 & B 155TS16V/2. 0 TS-RACING 155 x2:08 151 7:8 208958 6/ 7
23 102 1 4 Wi —H 14578/2.0 ICCHI INO 212008 6/8 =28932) 7/ 7
24 130 4 1 ®=A ZH3 ABARTH 595 ABARTH595 2°10.798 5/ 8 %2°09.724 1/ 1
25 133 5 12 £MA BEXE VW POLO GTI k2t i3 48 2183 |
26 105 1 5 ki (B 147TS/1 6 BT AT E %2'15.498 8/ 8 2'16.358 7 7
27 511 513 BhH# EN 4C HEST w0 5714 1 1
28 138 5 14 E@A #h 14718/2.0 7A77041147 %230450 3/ 7 A5 12 b/ 6
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1=AR100, 2=EC100SS. 3=EC100S, 4=EC100, 5=—MREITR.

A=VWA-T-0, B=VWA-T-2, C=VWA-T-4



